

On the Linear and Nonlinear Generalized Bayesian Disorder Problem (Discrete Time Case)

Albert N. Shiryaev and Pavel Y. Zryumov

Abstract This paper considers the generalized Bayesian disorder problem in the discrete time case with two types of the penalty function—the linear and the nonlinear ones. The main results for these cases are given in Theorems 1 and 2, respectively.

Keywords Disorder problem · Optimal stopping problem

Mathematics Subject Classification (2000) Primary 60G40 · Secondary 60J50 · 60J05 · 62C99

1 Linear Penalty Case

1. Let θ be a parameter taking values in the set $\{0, 1, \dots, \infty\}$. Suppose that on the probability space (Ω, \mathcal{F}, P) we consider the sequence of independent random variables $X = (X_0, X_1, \dots, X_n, \dots)$. For given θ we suppose that random variable X_n with $n < \theta$ has the distribution $F_\infty(x)$ and for $n \geq \theta$ the distribution function is $F_0(x)$. Their density (with respect to the distribution $(F_0 + F_\infty)/2$) will be denoted by $f_\infty(x)$ and $f_0(x)$, $x \in \mathbb{R}$. For given θ let $P_\theta = \text{Law}(X \mid \theta, P)$ be the law of X , and let $\mathcal{F}_n = \sigma(X_0, X_1, \dots, X_n)$. For simplicity of considerations we assume that $dF_0 \ll dF_\infty$.

Denote by \mathfrak{M}_T the class of finite stopping times (with respect to $(\mathcal{F}_n)_{n \geq 0}$) such that $E_\infty \tau \geq T$ where $T > 0$.

The *generalized Bayesian problem* (with a *linear* penalty function) consists in finding stopping time τ_T^* , if it exists, such that

$$\sum_{\theta=0}^{\infty} E_\theta(\tau_T^* - \theta)^+ = \inf_{\tau \in \mathfrak{M}_T} \sum_{\theta=0}^{\infty} E_\theta(\tau - \theta)^+. \quad (1)$$

A.N. Shiryaev (✉)

Steklov Mathematical Institute, Russian Academy of Sciences, Gubkina str. 8, Moscow 119991, Russia

e-mail: albertsh@mi.ras.ru

P.Y. Zryumov

Department of Mechanics and Mathematics, Moscow State University, Leninskie gory 1, Moscow 119992, Russia

e-mail: pavel.zryumov@gmail.com

The similar problem for the case of Brownian motion was formulated and investigated in [1, 3, 4]. It turns out that the methods of these papers (especially of [1, 4]) permit to describe the structure of the optimal stopping time for the generalized Bayesian problem in case of discrete time too.

2. The following theorem plays here the key role.

Theorem 1 *For any finite stopping time τ from \mathfrak{M}_T*

$$\sum_{\theta=0}^{\infty} E_{\theta}(\tau - \theta)^+ = E_{\infty} \sum_{n=0}^{\tau-1} \psi_n, \tag{2}$$

where the Markov sequence $\psi = (\psi_n)_{n \geq 0}$ satisfies the recurrent equations

$$\psi_n = (1 + \psi_{n-1}) \frac{f_0(X_n)}{f_{\infty}(X_n)}, \quad \psi_{-1} = 0. \tag{3}$$

Proof It is evident that

$$(\tau - \theta)^+ = \sum_{k=1}^{\infty} I(\tau - \theta \geq k) = \sum_{k=\theta+1}^{\infty} I(k \leq \tau).$$

So,

$$E_{\theta}(\tau - \theta)^+ = \sum_{k=\theta+1}^{\infty} E_{\theta} I(k \leq \tau). \tag{4}$$

Since $k - 1 \geq \theta$ and $\{k \leq \tau\} \in \mathcal{F}_{k-1}$ we find

$$E_{\theta} I(k \leq \tau) = E_k \frac{d(P_{\theta} | \mathcal{F}_{k-1})}{d(P_k | \mathcal{F}_{k-1})} I(k \leq \tau) = E_{\infty} \frac{d(P_{\theta} | \mathcal{F}_{k-1})}{d(P_k | \mathcal{F}_{k-1})} I(k \leq \tau), \tag{5}$$

where $P_{\theta} | \mathcal{F}_{k-1}$ and $P_k | \mathcal{F}_{k-1}$ are restrictions of the measures P_{θ} and P_k onto the σ -algebra \mathcal{F}_{k-1} .

Introduce the notation

$$L_n = \frac{d(P_0 | \mathcal{F}_n)}{d(P_{\infty} | \mathcal{F}_n)}, \quad n \geq 0, \quad L_{-1} = 1.$$

Then

$$\begin{aligned} \frac{d(P_{\theta} | \mathcal{F}_{k-1})}{d(P_k | \mathcal{F}_{k-1})} &= \frac{d(P_{\theta} | \mathcal{F}_{k-1})}{d(P_{\infty} | \mathcal{F}_{k-1})} = \frac{\frac{d(P_{\theta} | \mathcal{F}_{k-1})}{d(P_0 | \mathcal{F}_{k-1})}}{\frac{d(P_{\infty} | \mathcal{F}_{k-1})}{d(P_0 | \mathcal{F}_{k-1})}} = \frac{L_{k-1}}{\frac{d(P_0 | \mathcal{F}_{k-1})}{d(P_{\theta} | \mathcal{F}_{k-1})}} \\ &= \frac{L_{k-1}}{\frac{d(P_0 | \mathcal{F}_{\theta-1})}{d(P_{\infty} | \mathcal{F}_{\theta-1})}} = \frac{L_{k-1}}{L_{\theta-1}}, \end{aligned} \tag{6}$$

where we used for $k - 1 \geq \theta$ the property

$$\begin{aligned} \frac{d(\mathbb{P}_0|\mathcal{F}_{k-1})}{d(\mathbb{P}_\theta|\mathcal{F}_{k-1})} &= \frac{f_0(X_0) \cdots f_0(X_{\theta-1}) \cdot f_0(X_\theta) \cdots f_0(X_{k-1})}{f_\infty(X_0) \cdots f_\infty(X_{\theta-1}) \cdot f_0(X_\theta) \cdots f_0(X_{k-1})} \\ &= \frac{d(\mathbb{P}_0|\mathcal{F}_{\theta-1})}{d(\mathbb{P}_\infty|\mathcal{F}_{\theta-1})}. \end{aligned}$$

From (4)–(6) we deduce

$$\begin{aligned} \sum_{\theta=0}^\infty \mathbb{E}_\theta(\tau - \theta)^+ &= \mathbb{E}_\infty \sum_{\theta=0}^\infty \left[\sum_{n=\theta+1}^\infty \mathbb{I}(n \leq \tau) \frac{L_{n-1}}{L_{\theta-1}} \right] \\ &= \mathbb{E}_\infty \sum_{\theta=0}^\infty \sum_{n=\theta+1}^\tau \frac{L_{n-1}}{L_{\theta-1}} = \mathbb{E}_\infty \sum_{n=1}^\tau \left(\sum_{\theta=0}^{n-1} \frac{L_{n-1}}{L_{\theta-1}} \right) \end{aligned} \tag{7}$$

which implies that (2) holds for

$$\psi_n = \sum_{\theta=0}^n \frac{L_n}{L_{\theta-1}}, \quad \psi_{-1} = 0. \tag{8}$$

The recurrent equations (3) follow immediately from (8):

$$\psi_n = \frac{L_n}{L_{n-1}} \left(1 + \sum_{\theta=0}^{n-1} \frac{L_{n-1}}{L_{\theta-1}} \right) = (1 + \psi_{n-1}) \frac{f_0(X_n)}{f_\infty(X_n)}. \quad \square$$

3.

Remark 1 Statistical procedures based on the process $\psi = (\psi_n)_{n \geq 0}$ are well known in the statistical literature as “Shiryayev-Roberts procedures”.

Remark 2 From Theorem 1 it follows that for solving the conditionally Bayesian problem (1) in the class \mathfrak{M}_T we need to solve the following conditionally optimal stopping problem: to find a stopping time $\tau_T^* \in \mathfrak{M}_T$ such that

$$\mathbb{E}_\infty \sum_{n=0}^{\tau_T^*-1} \psi_n = \inf_{\tau \in \mathfrak{M}_T} \mathbb{E}_\infty \sum_{n=0}^{\tau-1} \psi_n. \tag{9}$$

The standard method of solution of such problems is based on ideas of the Lagrange multipliers: for any $C > 0$, to find a stopping time $\tilde{\tau}_C$ such that

$$\mathbb{E}_\infty \sum_{n=0}^{\tilde{\tau}_C-1} (\psi_n - C) = \inf_{\tau} \mathbb{E}_\infty \sum_{n=0}^{\tau-1} (\psi_n - C) \tag{10}$$

where infimum is taken over all finite stopping times τ .

If there exist $C = C(T)$ such that $E_\infty \tilde{\tau}_{C(T)} = T$, then this stopping time is optimal in the class \mathfrak{M}_T and so we may take $\tau_T^* = \tilde{\tau}_{C(T)}$.

Remark 3 The “classical” Bayesian disorder problem consists (see [3]) in finding stopping time $\tau_T^* \in \mathfrak{M}_T$, if it exists, such that

$$P(\tau_T^* \leq \theta) + cE(\tau_T^* - \theta)^+ = \inf_{\tau \in \mathfrak{M}_T} (P(\tau \leq \theta) + cE(\tau - \theta)^+),$$

where θ has a geometric prior distribution with parameter p and $c > 0$. The optimal τ_T^* for this problem was given in [3].

It turns out that when $p \rightarrow 0$ this Bayesian problem “converges” to the generalized Bayesian problem. This fact together with the result similar to the statement of Theorem 1 were also obtained in [2].

2 Nonlinear Penalty Case

1. Instead of the “linear case” (1) now we consider the following nonlinear problem with “nonlinear penalty function” $G = G(n), n \geq 0$: to find a stopping time τ_T^* in the class $\mathfrak{M}_T, T > 0$, such that

$$\sum_{\theta=0}^{\infty} E_\theta G((\tau_T^* - \theta)^+) = \inf_{\tau \in \mathfrak{M}_T} \sum_{\theta=0}^{\infty} E_\theta G((\tau - \theta)^+). \tag{11}$$

In the linear case $G(n) = n, n \geq 0$, Theorem 1 claims that in problem (1) there exists one sufficient statistics, namely $\psi = (\psi_n)_{n \geq 0}$, which is a Markov sequence (with respect to P_∞). Now we want to find under what conditions on function $G = G(n), n \geq 0$, there exist a finite number of statistics which form a multidimensional Markov system of sufficient statistics for solving the corresponding stopping time problem.

2. Suppose that $G = G(n), n \geq 0$, is a nondecreasing function with $G(0) = 0$ and

$$G(n) = \sum_{k=1}^n g(k), \quad \text{where } g(k) \geq 0 \text{ for } k > 0.$$

If $\tau \geq \theta$ then

$$\begin{aligned} G(\tau - \theta) &= \sum_{k=1}^{\tau - \theta} g(k) = \sum_{k=1}^{\infty} I(1 \leq k \leq \tau - \theta) g(k) \\ &= \sum_{n=\theta+1}^{\infty} I(n \leq \tau) g(n - \theta). \end{aligned}$$

Thus,

$$\begin{aligned}
 E_\theta G((\tau - \theta)^+) &= E_\theta \mathbf{I}(\tau \geq \theta) G(\tau - \theta) \\
 &= E_\theta \mathbf{I}(\tau \geq \theta) \sum_{n=\theta+1}^\infty \mathbf{I}(n \leq \tau) g(n - \theta) \\
 &= E_\theta \sum_{n=\theta+1}^\infty \mathbf{I}(n \leq \tau) g(n - \theta) = \sum_{n=\theta+1}^\infty g(n - \theta) E_\theta \mathbf{I}(n \leq \tau). \quad (12)
 \end{aligned}$$

Since $\{n \leq \tau\} \in \mathcal{F}_{n-1}$, we deduce, using (6), that for $n - 1 \geq \theta$

$$\begin{aligned}
 E_\theta \mathbf{I}(n \leq \tau) &= E_n \frac{dP_\theta}{dP_n} \mathbf{I}(n \leq \tau) = E_n \frac{d(P_\theta | \mathcal{F}_{n-1})}{d(P_n | \mathcal{F}_{n-1})} \mathbf{I}(n \leq \tau) \\
 &= E_\infty \frac{d(P_\theta | \mathcal{F}_{n-1})}{d(P_\infty | \mathcal{F}_{n-1})} \mathbf{I}(n \leq \tau) = E_\infty \frac{L_{n-1}}{L_{\theta-1}} \mathbf{I}(n \leq \tau).
 \end{aligned}$$

Substituting this into (12) implies that

$$E_\theta G((\tau - \theta)^+) = \sum_{n=\theta+1}^\infty g(n - \theta) E_\infty \frac{L_{n-1}}{L_{\theta-1}} \mathbf{I}(n \leq \tau).$$

Thus

$$\begin{aligned}
 \sum_{\theta=0}^\infty E_\theta G((\tau - \theta)^+) &= \sum_{\theta=0}^\infty \left[\sum_{n=\theta+1}^\infty g(n - \theta) E_\infty \frac{L_{n-1}}{L_{\theta-1}} \mathbf{I}(n \leq \tau) \right] \\
 &= E_\infty \sum_{n=1}^\tau \left[\sum_{\theta=0}^{n-1} g(n - \theta) \frac{L_{n-1}}{L_{\theta-1}} \right] \\
 &= E_\infty \sum_{n=1}^\tau \Psi_{n-1}(g) = E_\infty \sum_{n=0}^{\tau-1} \Psi_n(g) \quad (13)
 \end{aligned}$$

where

$$\Psi_n(g) = \sum_{\theta=0}^n g(n + 1 - \theta) \frac{L_n}{L_{\theta-1}}.$$

From (13) we find the following representation:

$$\inf_{\tau \in \mathfrak{M}_T} \sum_{\theta=0}^\infty E_\theta (\tau - \theta)^+ = \inf_{\tau \in \mathfrak{M}_T} E_\infty \left[\sum_{n=0}^{\tau-1} \Psi_n(g) \right]. \quad (14)$$

3. To get for the problem (11) a finite number of Markovian sufficient statistics let us assume that for $t \geq 0$

$$g(t) = \sum_{m=0}^M \sum_{k=0}^K c_{mk} e^{\lambda_m t} t^k, \tag{15}$$

where $\lambda_0 = 0$.

Consider first the case $K = 0$:

$$g(t) = \sum_{m=0}^M c_{m0} e^{\lambda_m t}. \tag{16}$$

Under this assumption

$$\begin{aligned} \Psi_n(g) &= \sum_{\theta=0}^n \sum_{m=0}^M c_{m0} e^{\lambda_m(n+1-\theta)} \frac{L_n}{L_{\theta-1}} \\ &= c_{00} \sum_{\theta=0}^n \frac{L_n}{L_{\theta-1}} + \sum_{m=1}^M \sum_{\theta=0}^n c_{m0} e^{\lambda_m(n+1-\theta)} \frac{L_n}{L_{\theta-1}}. \end{aligned} \tag{17}$$

Put

$$\psi_n = \sum_{\theta=0}^n \frac{L_n}{L_{\theta-1}}, \quad \psi_{-1} = 0 \tag{18}$$

and

$$\psi_n^{(m,0)} = \sum_{\theta=0}^n e^{\lambda_m(n+1-\theta)} \frac{L_n}{L_{\theta-1}} = \sum_{\theta=0}^n \frac{L_n^{(m)}}{L_{\theta-1}^{(m)}}, \tag{19}$$

where $L_n^{(m)} = e^{\lambda_m n} L_n$.

Then

$$\begin{aligned} \psi_n^{(m,0)} &= \sum_{\theta=0}^n \frac{L_n^{(m)}}{L_{\theta-1}^{(m)}} = \frac{L_n^{(m)}}{L_{n-1}^{(m)}} + \sum_{\theta=0}^{n-1} \frac{L_n^{(m)}}{L_{\theta-1}^{(m)}} \\ &= e^{\lambda_m} \frac{L_n}{L_{n-1}} + \frac{L_n^{(m)}}{L_{n-1}^{(m)}} \sum_{\theta=0}^{n-1} \frac{L_{n-1}^{(m)}}{L_{\theta-1}^{(m)}} = e^{\lambda_m} \frac{f_0(X_n)}{f_\infty(X_n)} (1 + \psi_{n-1}^{(m,0)}). \end{aligned}$$

So, we have the following system of equations for ψ_n and $(\psi_n^{(1,0)}, \dots, \psi_n^{(M,0)})$:

$$\begin{cases} \psi_n = \frac{f_0(X_n)}{f_\infty(X_n)} (1 + \psi_{n-1}), & \psi_{-1} = 0, \\ \psi_n^{(m,0)} = e^{\lambda_m} \frac{f_0(X_n)}{f_\infty(X_n)} (1 + \psi_{n-1}^{(m,0)}), & \psi_{-1}^{(m,0)} = 0. \end{cases} \tag{20}$$

It is interesting to note that (with respect to the measure P_∞) all sequences $\psi = (\psi_n)_{n \geq 0}$, $\psi^{(m,0)} = (\psi_n^{(m,0)})_{n \geq 0}$ are Markovian and by (17)

$$\Psi_n(g) = c_{00}\psi_n + \sum_{m=1}^M c_{m0}\psi_n^{(m,0)}, \tag{21}$$

i.e. in the case (16) $\Psi_n(g)$ is a sum of the Markovian sequences from the set $(\psi, \psi^{(1,0)}, \dots, \psi^{(M,0)})$.

4. Now assume that $M = 0$. In this case

$$g(t) = \sum_{k=0}^K c_{0k}t^k = c_{00} + \sum_{k=1}^K c_{0k}t^k. \tag{22}$$

Denote for $1 \leq k \leq K$

$$\psi_n^{(0,k)} = \sum_{\theta=0}^n (n+1-\theta)^k \frac{L_n}{L_{\theta-1}}. \tag{23}$$

Then

$$\begin{aligned} \psi_n^{(0,k)} &= \sum_{\theta=0}^n \sum_{i=0}^k C_k^i (n-\theta)^i \frac{L_n}{L_{\theta-1}} \\ &= \sum_{\theta=0}^n \frac{L_n}{L_{\theta-1}} + \sum_{i=1}^k \sum_{\theta=0}^n C_k^i (n-\theta)^i \frac{L_n}{L_{\theta-1}} \\ &= \psi_n + \sum_{i=1}^k \frac{L_n}{L_{n-1}} \sum_{\theta=0}^{n-1} C_k^i (n-\theta)^i \frac{L_{n-1}}{L_{\theta-1}} \\ &= \psi_n + \frac{f_0(X_n)}{f_\infty(X_n)} \sum_{i=1}^k C_k^i \psi_{n-1}^{(0,i)} \\ &= \frac{f_0(X_n)}{f_\infty(X_n)} \left(\sum_{i=0}^k C_k^i \psi_{n-1}^{(0,i)} + 1 \right), \end{aligned} \tag{24}$$

where $\psi_{n-1}^{(0,0)} = \psi_{n-1}$.

So, for the case (22) the family of statistics $(\psi_n, \psi_n^{(0,1)}, \dots, \psi_n^{(0,K)})_{n \geq 0}$ is Markovian satisfying to the following system:

$$\begin{cases} \psi_n = \frac{f_0(X_n)}{f_\infty(X_n)} (1 + \psi_{n-1}), & \psi_{-1} = 0, \\ \psi_n^{(0,k)} = \frac{f_0(X_n)}{f_\infty(X_n)} (\sum_{i=0}^k C_k^i \psi_{n-1}^{(0,i)} + 1), & \psi_{-1}^{(0,k)} = 0, \quad k = 1, \dots, K. \end{cases} \tag{25}$$

5. Consider finally the general case (15).

Denote for $1 \leq m \leq M, 1 \leq k \leq K$

$$\psi_n^{(m,k)} = \sum_{\theta=0}^n e^{\lambda_m(n+1-\theta)} (n+1-\theta)^k \frac{L_n}{L_{\theta-1}} = \sum_{\theta=0}^n (n+1-\theta)^k \frac{L_n^{(m)}}{L_{\theta-1}^{(m)}} \tag{26}$$

where $L_n^{(m)} = e^{\lambda_m n} L_n$. Then

$$\begin{aligned} \psi_n^{(m,k)} &= \sum_{\theta=0}^n \sum_{i=0}^k C_k^i (n-\theta)^i \frac{L_n^{(m)}}{L_{\theta-1}^{(m)}} \\ &= \sum_{i=1}^k \sum_{\theta=0}^n C_k^i (n-\theta)^i \frac{L_n^{(m)}}{L_{\theta-1}^{(m)}} + \sum_{\theta=0}^n \frac{L_n^{(m)}}{L_{\theta-1}^{(m)}} \\ &= \sum_{i=1}^k \sum_{\theta=0}^{n-1} C_k^i (n-\theta)^i \frac{L_n^{(m)}}{L_{\theta-1}^{(m)}} + \psi_n^{(m,0)} \\ &= \sum_{i=1}^k C_k^i \frac{L_n^{(m)}}{L_{n-1}^{(m)}} \sum_{\theta=0}^{n-1} (n-\theta)^i \frac{L_{n-1}^{(m)}}{L_{\theta-1}^{(m)}} + \psi_n^{(m,0)} \\ &= e^{\lambda_m} \frac{f_0(X_n)}{f_\infty(X_n)} \sum_{i=1}^k C_k^i \psi_{n-1}^{(m,i)} + \psi_n^{(m,0)}. \end{aligned} \tag{27}$$

Together with (20) the formula (27) gives recurrent equations:

$$\psi_n^{(m,k)} = e^{\lambda_m} \frac{f_0(X_n)}{f_\infty(X_n)} \left[\sum_{i=0}^k C_k^i \psi_{n-1}^{(m,i)} + 1 \right], \quad \psi_{-1}^{(m,k)} = 0. \tag{28}$$

Hence, we get the following extension of Theorem 1 for nonlinear penalty functions.

Theorem 2 For the case of independent observations and the nonlinear penalty function $G(n) = \sum_{k=1}^n g(k)$ with g given by (15) the system

$$(\psi_n, \psi_n^{(m,k)})_{n \geq 0}, \quad 0 \leq m \leq M, 0 \leq k \leq K \tag{29}$$

is a Markovian family with recurrent equations (20), (25), (28). This family forms a system of sufficient statistics in the sense that they define $\Psi_n(g)$:

$$\Psi_n(g) = \sum_{m=0}^M \sum_{k=0}^K c_{mk} \psi_n^{(m,k)}. \tag{30}$$

Example 1 If $G(n) = n, n \geq 0$, i.e. $g \equiv 1$, then there exists only one sufficient statistics $\psi = (\psi_n)_{n \geq 0}$.

Example 2 If $G(n) = n^2 + n$, i.e. $g(n) = 2n$, then

$$\Psi_n(g) = \Psi_{n-1}(g) \frac{f_0(X_n)}{f_\infty(X_n)} + 2\psi_n. \quad (31)$$

Remark 4 It is important to note that the recurrent equations of Theorems 1 and 2 can be directly extended on more general cases of nonindependent random variables: in all recurrent equations the ratios $f_0(X_n)/f_\infty(X_n)$ should be changed to L_n/L_{n-1} . (See more details about “ θ -models” in [5].)

References

1. Feinberg, E.A., Shiryaev, A.N.: Quickest detection of drift change for Brownian motion in generalized Bayesian and minimax settings. *Stat. Decis.* **24**, 445–470 (2006)
2. Pollak, M., Tartakovsky, A.G.: On optimality properties of the Shiryaev-Roberts procedure. Private communication (2008)
3. Shiryaev, A.N.: On optimal methods in quickest detection problems. *Theory Probab. Appl.* **8**, 22–46 (1963)
4. Shiryaev, A.N.: Generalized Bayesian nonlinear quickest detection problems: on Markov family of sufficient statistics. In: *Mathematical Control Theory and Finance*, pp. 377–386. Springer, Berlin (2008)
5. Shiryaev, A.N.: On stochastic models and optimal methods in the problems of the quickest detection. *Teor. Veroyatnost. Primenen.* **53**, 417–436 (2008). English translation will appear in *Theory Probab. Appl.*



© Margarita Kabanova